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Find the missing place value from a 6-digit number

Grade 4 Place Value Worksheet

Find the missing numbers:

-

) 60,000 + 900,000 + + 1,000 + 4 + 30 = 961,134

2 0 +40 + 200 + 4,000 + + 200,000 = 204,240

% 7+ 60+ 500 + 9,000 + 10,000 + = 319,567

9 1+ 200 + 4,000 + + 20 + 900,000 = 954,221

% 300,000 + 70,000 + 800 + 2,000 + +7=372,857

% 600,000 + 70,000 + + 5,000+ 70 +5=675,775

oL + 5,000 + 10,000 + 50 + 500,000 = 515,155

® 20,000 + 100,000 + + 1,000 + 9 + 80 = 121,789

9 0+ + 500 + 0 + 0 + 60 = 700,560

10 34+200+0+90+ + 400,000 = 460,293

™ 1 + 600 + 3,000 + 20,000 + 50 + = 523,651
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